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per howr, You are considering changing the p'o:ers Particulors
outpui 1o 300 units per hour, but will require 14 wor .
Qre as follows:

CURRENT PROCESS NEW PROCESS
OUTPUT (UNITS / HOUR) 200 ' 300 i
NUMBER OF WORKERS | 10 i 14

MATERIAL COST / HOUR $120 5150

Workers are pold al o rate of §1

a Calcviate the multifactor productivity for the curren! process {show your ans

spent on production)

b. Calcuiate the multifactor productivity for the new
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ef hour, and overhead is charged at 140% (or 1.4 times) labot
costs. Finished swilches sell for $20 / unit.
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(3 poinis) The Burdell Company wants 1o develop o sales torecast for o last-seliing new
product line it has inlroduced, in order 1o help plan fulure production. The
been gathered by the Marketing Depariment. The pasl weekly average 144,200 £
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' o what Is the estimated fime of the cilical path?
e Whot is the ociivily varlance along the crifical path?
¢ what is the probability of completion of the project afler week 427
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2, (8 points) A drive-in restaurant has experienced the following customer loads on the ‘ggg_!,,
or period

Friday nights. It their forecast for period seven was 59 customers, then what Is thelr forecast
number ¢ using a smoothing constant of §°
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Friday | # i \
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1 49
2 55
3 57
4 59
5 56
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A (¥ points) Douglos Kosb operates o bakery In Jogfalls, India. Because of its excellent product
nd excellent location, demand has Incre

Qsed by 25% last year. On far too many occaslions,
customers have nol been able to purchase the bremrﬁ%ﬁolce. Because of the size of the

, talt meeti
ovens differently so that more loaves of br a6 bate g e hogesied ways to lodd e

changed. I the bakery makes 15 aves per month loav
labor hour. How many workers will Do 9T (oo ettt e mont

uglas need to add? (each worker works 140 hours per month).
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8 points) Consider the tasks, durations, and predecessor relationships in the following network.
raw the network and the questions that follow.
a m b _1212‘3»
Activity immediate | Opfimisfic | Most | Pessimisti
Description Predecessor | (Weeks) Uikely c 3 Vanmy
(s) (Weeks) | (Weeks)
A ove a 7 10 p R |
B A 2 5 20 4 . st
c A 8 12 16 12 118
D B 1 2 3 9 0. \l
3 D,C 6 8 22 | 4\0 X
F C 2 3 4 w3 o\
= G F 2 2 2 -9 0
R | E. G, H a 8 2| 118
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